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30197631 [Swjwgpwlywl pnine /U-4 $npdwinh/ PLUZ nnth 2200 26400 12
30192740|@ninp gniiwnp U-4 FCUZ nnup [ 2000 [ 20000 10
30197232 I&qpmmmhwh(mpmqmqmp) PLUZ huin 60 2400 40
24910000/ Unuhtid phn Unpnip ugubn hudwp |RCULZ hun 5000 | 10000 2
30199231/ uwdwilh spwip PCUZ hwiin 10 1000 100
30192121|Qnhs /Qupdhp,ul,juunun/ PCU2, hwuwn 80 8000 100
39263310/ 9pwuknuith opwgniig PCU2 hwwn 550 550 1
39263310 Snuubnubh onpwgnig PCU2 hwwn 650 1300 2
30197210 BN pwujw bl /dwyy/ PCUZ nnith | 1000 3000
30192160] Pwnwnpuiiynip / 2unphtu / PLUZ huin 250 1250
39292500| Rwlint /wywuindwuwy/ PLUZ hwwn 100 1000 10
30192137|Uwinhun FCUZ hunn 100 1400 14
30192104 [TEwnhl PCU2 hwin 70 700 10
24911200/ Unuhtid bunyyuhw RCU2 huin 300 3000 10
39263420 wipwy SEiwnw 066 PCUL huin 300 3000 10
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wdwlnph dhongwrnid PCU2 npwud 0 35000 0
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90511000|Unpwhwlntpju Swrwinipintbltbn PCUZ npud 0 120000 0

npwluynpunwih owrwNLRINLLGLN FCU.Z npuw 0 95000 0

UUU 3 gerousuueten 60000

50310000|Uwnpwynpniitenh pOpwghy Gnpngntd npwu 0 40000 0
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